=

<

Y% A |
N N a o 3. 2.3 9
[ [ o o) s == 3
o o % 9 7 g3 N
T 2 2 o o ¥ Ty @
JEZDNIA CHODNIK | - = s g o -
— : f o = =3
strona prawa L ) o T o 8. ﬁ % [V
Ol | w| B3| | D|E 3 ¢ = ©§ g g%
sl 3| N | N N NS S D s S =c
sl 8192l @@ ) =
Q|1 &lalajla| ol a|d 3
Q| o | = S| S =] =]
o) —| =z o| @ o @ [}
N ——— — — -~
o] cl| = n| T (7] © -
Tl &2 =] 3|8]| 5|8 e
Blo| 2 Pl e 2 %’
NIS|B|8|B]| 8 o
3| 3 S S
@) e o o
+ sare st odazo naliso no Poczatek proj. odcinka km 0+000,00
!QI.,W,W 54061452 031452 02 P e
S s Y%
o N &
‘ , ©
OO 23,90 151,94(151,85(145,00|151,99
~
1
S| |2
N &
km 0+45,8
49,10 ~  |151,89151,79152,02|151,97 \/
|
S
N
N
Y
N
71l55| I »
74,10 N 151,85(151,70(151,55(151,98 | km 0+77.4
| \V
|
|
N \
@ |
|
|
G 151,83(151,61151,87|151,88 |
I
I
— 7,37 I \‘
IS |
> S ki
P & m 0+117,8
23,90 I 151,78|151,64|151,84|151,77
o
X
O
km 0+143,9
L km 0+149,4
49,40 R39S||161.73(151.71|151,71151,72 :
SIS km 0+154,9
-
EN S
* ~ |8
% o
N
74,00 N 151,68(151,55151,70|151,66
N
(o))
G 151,59|151,35151,70|151,57
IN
[$)]
24,50 E 151,46(151,17\151,50|151,46
N
(o))
N
N
49,20 151,27|150,98|151,14|150,87
IN
6420| ® N 150,87
~
264,671 &
Ny
74,00 2 151,02|150,79|150,97|150,92 :
|
|
J
S ~
-Ikl
S
N km 0+299,5
G = L 145:00[150:60{ 150,56 150,61 ’ km 0+301,1
- U]
> e 15058 km 0+305,6 \/
p=
(&%) 3§95 km 0+311,8
s 18 3
7709 & N
S|| ® km 0+323,6
24,2 = ®\145,00(150,65|150,62| 150,71 \/
I
N
km 0+344,4
49,4 150,58l150,77|150,59|150,83 \/
~
Olg)
~ |
N
5'\:)1 NI \
O S | km 0+365,4
¢ \ v
|
|
74,9 150,85(150,89150,88| 150,95 \
|
‘\ km 0+383,1
Y%
~
N km 0+395,4
0
G 39423 & 150,98(151,01151,01|150,98 \/
3
-
BN X
'\ km 0+412,4
1 \/
(&) i
P S
® N
24,2 RA|751,01)151,04|151,22|151,10
T (8]
s km 0+434,3
5 Y%
492 =150,99)150,92/151,08| 150,69 km 0+449,6
£ Y%
S
N S
© ! km 0+466,4
| Y%
74,1 v |180,70(150,75150,90| 150,84 “
|
] | km 0+481,5
5 \V
©
km 0+496
G 150,64|150,64150,64| 150,61 km 0+500
S km 0+504,6 \/
On N fil0G km 0+510,7 \
10,74 g§g§ 150,65 : ‘
- 3593 km 0+515,8 \
W -~
$ 7 \
o ',n\T) g' \ km 0+522,2
24,3 Q| | ]|160.78]150,65|150,84| 150,62 ’ \/
3 (S
3 ‘x
N
o u
N
~N |
|
|
49,3 150,80\150,79|150,86|150,85 \
|
S \‘ km 0+556
; | Y%
62,76 = | km 0+565
.IQ T
S
d ®
74,4 3 S|150,90|150,82|150,95|150,88
~
('})1 U
o ; km 0+589,7
G 150,87)150,72151,00(150,78 ’/
\
= |
(@) @ |
1§ |
S \
o S \
|
o S \
24,3 150,98l150,72|150,98|150,78 |
| km 0+630,8
|
N | \/
& \
= |
\
N \
49,4 {65449 3 150,95|150,82|150,92|150,88 :
S |
S \
N |
S ‘ km 0+664,6
74,2 150,97(150,92|150,92|150,98
E iy km 0+680
!\) ~
s | 55 Y%
L ®IN
)
km 0+695,3
G 151,09|151,02151,10|151,08 \/
N N
N [
{7;14,573
x km 0+717,7
) Y%
245 151,09\151,12151,03|151,18
km 0+731,2
. Y%
W
49,5 X 151,10(151,22151,17|151,28 TTOFT522
N ;
@ R
§§§§ 151 2 km 0+757,5 \ km 0+757,5
SERE] km 0+762,8 / \/
- - 1 km 0+765
N S | Y%
g |
74,5 R\151,16(151,14|151,35|151,20 |
N
N
764,07 ¥
k)
ol IR
G 151,02|150,97151,22|151,03 PR
© |,
[N}
24,3 150,88|150,81150,99|150,87
~ km 0+830,7
o | \V
XN N
© km 0+841
49,2 150,60\150,65|150,66| 150,71
~ km 0+853
|
5 \V
N :
& & km 0+864,3
74,4 150,55150,48|150,53| 150,54
N
o km 0+890,2
| \V
i
|
G N 150,28150,31150,42|150,37 ‘
T km 0+908,4
O S
&
N
(o3
‘N
N
*
o km 0+928,8
N 1
32,1 93"42§g; 150,16150,79|150,11|150, 16
- Il
N N
© [$)) . . .
o Koniec proj. odcinka km 0+945,00
45,0 160-07150141449 94450 47
3 OIBS|ISY goz=|@
$ | 3|8|5| €8] S% |3
g § gl 25| 5|
=4 3 = S
3 3I(§S
| (S5 2
SIS
h NIR §
S IH
i) tg oo ‘s
AR L
g‘ N &' -QU 8‘
SIS 5
S % ES s s
=5 S I % |=®
S| Bl | §| £ I8
] S I = |o
RARCH RS ~ =
£33 g z| =R
3@ 5y Q =
RER [ = L
SSy =Y
s8¢ S| <
=8 2| 8
g2 <
S N o
S L
:r'&‘)‘g g
B =
g 3
g
S
52
%)
N ES
= %- =K [~
S, S

Bysmozelag ‘|n



